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COMMON QUARTERLY EXAMINATION - 2024 - 25

Time Allowed : 3.00 Hours| ACCOUNTANCY [Max. Marks : 90
YouTube/ Akwa Academy
PART -1 .
I. Choose the Correct Answer: o . 20x1=20 ‘

1. Incomplete records are generally maintained by
(a) A company (b) Government
(c) Small sized sole trader business (d) Multinational enterprises
2. Statement of affairs is a
(a) Statement of income and expenditure _ (b) Statement of assets and liabilities
(c) Summary of cash transactions : _ (d) Summary of credit transactions
3. The amount of credit sales can be computed from
(a) Total debtors acco_unt . .(b) Total creditors account
(c) Bills receivable .account o ~ (d) Bills payable account
4. Opening balance of debtors: ¥ 30,000, cash received: ¥ 1,00,000, credit sales: I 90.000; closing balance
' of debtors is

(@) - 30,000 ~(b) ¥1,30,000 (c) ?40.060 (d) Y20,000
- 5. Receipts and payments account is a I . g
(@ Nominal Alc _ ' (b) Real Alc
(c) Personal Alc MR N ‘(d) Representative personal accbunt‘

-6. " Income and expenditure account is a : :
(@) Nominal Al - < ° " (b) RealAl
(c) Personal Alc 't : (d Representatlve personal account

7. There are 500. members in a, club each paylng ? 100 as annual subscription. Subscnptlon due but not
recelved for the current year is ¥ 200; Subscnptlon received in advance is T 300 F|nd out the amount of .
subscription to be shown in the income and expenditure account.

a) 50,000 o (b) < 50,200 ‘ (c) 49,900 - (d). T 49,800
8. In the absence of an agreement among the partners interest on capital |s ’
(a) Not allowed o ., (b) Allowed at bank rate
(c) - Allowed @ 5% per annum (d). Allowed @ 6% per annum
9. As per the lndian Partnership Act, 1932, the rate of interest allowed on loans advanced by partners is
(@) 8% per annum - : ~ (b) 12% per-annum () 5% perannum . (d) 6% per annum

10. Which of the following is the incorrect pair?
(a) Interest on drawings

'Debited to capital account . -

(b) Interest on capifal “Credited to capital account

- (c) Interest on loan
(d) Share of profit

Debited to capital account

Credited to capital account V/12/Acc/ 1
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1.

12,

13.
14,
15.

16.

~(a ARevaluation profit’

17.

18.

: (a) Capital account of all the partners

19.

. (c) legacy
20.

21.
22.
23.
24,
| .25,

(a) - Real Alc

~(a) compulsory it (b) optional - - N “-’(¢) - not neceesary

Which of the following statements is true?

(@) Goodwill is an intangible asset (b) Goodwill is a current asset

(©) Goodwill is a fictitious asset (d) Goodwill cannot be acquired

Which of the following is true?
(a)
(b)
(c)
()

Super profit = Total profit / number of years
Super profit = Weighted profit / number of years
Super profit = Average profit — Normal profit
Super profit = = Average profit x Years of purchase

When the average profit is X 25,000 and the normal profit is ¥ 15,000, super profit is
(@ 25 ,000

(b) ¥5,000 () ¥10,000 ~ (d) 15,000
Re_valuation Alcis a- '

“(b) Nomrnal Alc (c) Personal Alc (d) Impersonal Alc

If the old profit shanng ratio is more than the new profit shanng ratio of a partner, the difference is called
(@) - Capltal ratio

(b) Sacrificing ratio (c) Garnrng ratio (d) None of these

Select the odd one out

(b) Accumulated loss

(¢) Goodwill brought by new partner (d) Investment fluctuation fund

On retrrement of a partner from a partnershrp firm, accumulated profits and losses are drstrrbuted to the

~ partners in the

(@) New profit sharing ratio (b) - OId prot" t'Sharin'g ratio

(¢) Gaining ratio (d) Sacrificing ratio -

On retrrement of a partner, general reserve is- transferred to the

(b) Revaluatron account

(c) Caprtal account of the: contrnumg partners o (d) Memorandum revaluation account

If the donation recelved wrthout any specrf ic condrtron then it isa

(a) General donatlon ' (b) specrﬁc donatlon A

: : : '_ (d) gra,nts from government :
In a partnership business , agreement is L |

.~ (d) none of these
PART -1l . '

Answer any Seven of the followlng Q No 30 ls Compulsory. e ' 7x2=14

What is a statement of affarrs? v _ ‘
Give four examples for capital recelpts of not—for—prof t organrsatron
State any two circumstances under whrch goodwrll of a partnershlp ﬁrm |s valued
What is sacrificing ratio? - _ M
What is meant by retrrement of a partner" :
' V/12/Acc/2
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26. From the following particulars ascertain profit or loss:

BoT"

28.

4
Capital as on 1st April 2018 1,60,000
Capital as on 31st March, 2019 ’ ] 1,50,000
Additional capital introduced during the year . 25,000
- | Drawings made during the year : 7 30,000
How will the following items appear in the final accounts of a sports club?
Particulars 4 : .
Stock of sports materials (01.04.2018) = 3,000
Sports materials purchased during current year ' 9,000
Sale of old sport materials during current year ' 500 -
Stock of sports materials (31.03.2019) - 4,000

Mani is a partner, who withdrew ¥ 30,000 on 1st September, 2018. lnterest on drawings is charged at 6%

per annum. Calculate interest on drawmgs on 31st-December, 2018 and show the journal entries by

29.

30.

.
31.
32.
33,
i34,

assummg that ﬂuctuatmg -capital method-is followed.

From the following information, ‘calculate the value of goodwill on the basis of 3 years purchase of average

“profits of last four years.

Year Result ~Amount
2015 Profit - 5,000
2016 ‘| Profit 8,000
2017 Loss | 3,000
2018 | Profit | 6000

What is the partners current account

: %  PART-m
Answer any Seven of the followlng Q No: 40 ts compulsory 7x3=21
What are the features of mcomplete records? :

What is mcome and expendlture account? |

State-any SIX contents of a partnership deed

How the following items will appear in the firial accounts of a club for. the year endmg 31st March 20197

-Dr. Recelpts and Payments Accoun_t for the year ,ended 31st Mar_ch,. 2019 Cr. ‘

Receipts . . | . % |~ T |Payments - ; 4
.‘To‘Subscription: 2 B i, 3 ' o
20172018 1o,ooo_"_
20182019 s,o.'oo_o g
20192020 | 5000 | 65000 |
' i A TV/12/Ace/3,
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36.

37.

38.

www.Padasalai.Net www.Trb Tnpsc.Com

There are 200 members in the club each paying an annual subscription of ¥ 400 per annum. Subscription

still outstanding for the year 2017-2018 is ¥ 2,000.

From the following details, calculate the missing figure:

Particulars £4
Capital as on 1st April, 2018 40,000
Capital as on 31st March, 2019 50,000
Additlonal capital introduced during the year 7,000 >
Profit for the year 8,000
Drawings during the year ?

Kavitha is a partner in a firm. She withdraws <. 2,500 p.m. regularly. Interest on drawings is charged @ 4%
p.a. Calculate the interest on drawings using average period, if she draws A

(i) atthe beginning of every month-

(i) in the middle of every month

(iii) at the end of every month

Find out the value of goodwnll at three years purchase of weighted average profit of last four years.

Year * Profit Z. Weight
2015 10,000 | = 1
2016 12,000 .2
2017 - 16,000 - 3
2018 118,000 4

Anjall and Nlthya are partners of a firm sharing profits and losses in the ratlo of 5:3. They admlt Pramila on

1.1.2018. On that date their balance sheet showed accumulated loss of T 40,000 on the asset side of the

~ balance sheet. Give the journal entry to transfer the accumulated loss on admission. - : '

39.

40.

V.
41.

Answer all the followlng questlon

Raja and Ravi are partners, shanng prof itsin the ratlo of 3 2. They admit Ram for 1/4 share of the profit. He
takes 1/20 share from Raja and ‘4/20 from Ravi. Calculate the new prof it sharing ratio and sacrificing ratio.

What is annu1ty? How to compute annuity factor?
PART - IV
7X5=35

Ananth does not keep his books under double entry system Find the profit or loss made by him for

a)
the year ending 31st March, 2019. |
Particulars 31.3.2018 T 31.3.2019 7
Cash at Bank 5,000 (Dr.) 60,000 (Cr.)
Cashinhand = - 3,000 - 4,500
Stock of goods . 35,000 , 45,000
Sundry Debtors 1,00,000 90,000
Plant and Machinery 80,000 80,000
| Land and Buildings 1,40,000 1,40,000
" Sundry Creditors - 1,70,000 1,30,000

Ananth had withdrawn ¥ 60,000 for hls personal use. He had introduced ¥ 17,000

5
N+

S
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expansion of his business, Create a provision of 5% on debtors. Plant and machinery is to be

depreciated at 10%.
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(OR)

b) -Sundar and Suresh are partners sharing profits in the ratio of 3:2. Their balance sheet as on 1st

January, 2017 was as follows. YOUTube/ Akwa Academy

Liabilities z. . Assets .

Capital Accounts: Buildings 40,000
Sundar 30,000 Furniture 13,000
Suresh 20,000 50,000 | Stock 25,000

Creditors ' 50,000 | Debtors 15,000

General reserve | 110,000 | Bills receivable. 1_4.000

Workmen compens;ation-fuhd 15,000 | Bank 18,000

3 1,25,000 1,25,000

They decided to admit Sugumar into partnership for 1/4 share in the profits on the following terms:

1. Sugumar has to bring in Z.30,000 as capital. His share of goodwiil is valued at ¥. 5,000. He could
not bring cash towards goodwill. . | '

2. That the stock be valued at ¥.20, 000.

3. That the furniture be dépreciated by ¥.2,000.

4. That the value of building be depreciated by 20%. _

'P;epare necessary ledger accounts and the balance sheet after admission.

42. a) ~ Fromthe information given below, prepare Receipts and Payments account of Madurai Mother Theresa

Mahalir Mandram for the year ended 31st December, 2018. '

- Particulars 4 . Particulars £
Cash balance as on 1.1.2018 | 2,000 | Fire Insurance premium paid 1,500
Bank balance as on 1.1.2018 | 3,000 | Subscription received 8,500
Sale of old newspapers 500 | Furniture purchased 6,000

| Stationery purchased '6,000 | Purchase of neWsp'apers | 700

Audit fees paid 2,000 | Depreciation on furniture 900

Entrance fees received ‘ 13.000_ Cash balance as on 31.12.2018 2.500

Sundr’y charges 6,000 | Conveyance paid 1,000

Scholarships given 2,000 | : Sale of furniture - 4,000

Interest on investments 2,000

. (OR) .
b) Chandru, Vishal and Ramanan are partners in a firm sharing profit and losses equally. Their

balance sheet as on 31st March, 2018 as follows.

Liabilities Z e Assets Z. - &

Capital Accounts: - Furniture 60,000

Chandu | 60,000 Machinery 1,20,000
V/12/Accl/5
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Vishal 70,000 Sundry debtors 33,000
Ramanan 70,000 2,00,000 Less: Provision for
Bills payable 80,000 doubtful debts 3,000 30,000
Bills receivable 50,000
Cash.at bank 20,000
2,80,000 2,80,000

Ramanan retired on 31st March 2019 subject to the following conditions:
i) Machinery is valued at ¥.1,50,000.
“ii) Value of furniture brought down by Z.10,000.
i) Provision for doubtful debts should be'increased :5 Z.5,000.
V) Inv_estment of & 30,000 not recor_ded in the books of is to be recorded now.
Pass necessary journal entries and prepare revaluation account.
43. a) From the following balanee sheets of Subha and Sudha who share profits and losses equally,
calculate interest on capital at G%rp.a. for the year ending 31st December 2017.

Balance‘sheet as on 31s't December 2017

Liabilities ‘ T | T Assets. (4
Capital accounts: Fixed assets 30,000
\ Subha 15000 | _ Current assets 20,000
Sudha 20,000 | 35,000 i |
 Current Iiabil'itiee' +15,000°
| 50,000 50,000

Drawmgs of Subha and Sudha during the year were T2 500 and ¥ 3,500 respectively.Profit earned
,,.dunng the year was 2‘ 15, 000 v
i | (OR)
b) Fmd out the value of goodwill by capltahsmg super prof ts: .
. (@ - Normal Rate of Return 10% _ '
‘ (b) Prof‘ ts for the last four years are ? 30 000, ? 40 000 Z 50,000 and ? 45,000.
(c) A non-recumng lncome of ? 3, 000 is mcluded ln'the above mentioned profit of F 30,000.
(d) ' Average capital employed- is T3 00,000. 7
44. a) From the following information, calculale the value of goodwnll based on 3 years purchase of super
profit : I ;
(i) Capltal employed ? 2, 00 000
‘ (ii) Normal rate of return: 15% -

(iii) - Average profit of the business: F 42,000

(OR) -
' V/12/Acc/6
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Selvam does not keep his books under double entry system. From the following information prepare

trading and Profit and loss A/c and Balance Sheet as on 31-12-2018

Particulars 1-1-2018 ¥ ©31-12-2018 T
Machinery 60,000 60,000
Cash atbank 25,000 . 33,000
Sundry debtors . 70,000 ~1,00,000
Stock 45,000 22,000
. Bills receivable : 20,000 38,000
Bank loan 45,000 45,000
Sundry creditors | : 25,000 ‘ 21,000
Cash sales 20,000 Credit sa‘les : ~1,80,000 ¥
| Cash purchases : 8,000 - Credit purchases | 52,000
Wages 6,000 Salaries | 23,500
Advertisement ‘ 17,000 " Interest on bank loan . 4,500
Drawings | 50,000 Additional capital 21,000
Adjustments: |

Write off deprecuataon of 10% on machunery Create a reserve of 1% on debtors for doubtful debts.-
Hari, Madhavan and Kesavan are partners, sharing prof its and losses in the ratio of 5: 3:2. As from 1st
April 2017, Vanmathl is admltted into. the partnershlp and the new prof t shanng ratio is decided as

4:3:2:1. The following adjustments are to be made.

(@) . Increase the value of premlses by T 60, 000

(b) Deprecnate stock by ¥ 5,000, fum[ture by ¥ 2 000 and machlnery by ? 2,500.
(¢) ~ Provide for an outstanding Ilabillty of T 500.
Pass journ_al entries and prepare revaluation account. . -

' oRy

From the following mformatlon prepare capltal accounts of panners Padmmn and Padma when thelr-~

‘ capltals are fluctuating.

Partlcular§ T e Pad.mlnl 7 Péqmé 4
Capital on 1st January 2018 (Cr. balance) |° . 500000 | - 4,00000
Drawings duing 2018~ | 70000 | 40,000
. Interest on'dra.wings- - T 12,000 i 1,600‘
Share of profit for 2018 RN TR 52,000 | 40,000
interestoncapital | - 3000 | 24000
Salary e me S T ag 000, | - N
Commission R NSRRI T - 21,000
’ | iy Ty V/12/Acc!?
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a) State the differences between fixed capital method and fluctuating capital method.

(OR)

b)  Following is the Receipts and payments account of Neyveli Science Club for the year ended 31st

December 2018.

Dr. - Receipts and Payments Account for the year ended 31st December 2018. Cr.
Recelpts z Payments z. .
To Balance b/d By Balance b/d :
Cash in hand 2,400 Bank overdraft 1,000
To Subscription 8,700 ' By Pos'tage expenses 200
To life membership fees - 5,000 By Science équipments purchased 10,000
To Exhibition fund receipts 7,000 | By laboratory expenses 2,400
To sale of science equipments By Secretary’s honoarium 5,000
(Book value 2.5,000) | 6,000 | By Audit fees 3,600
- To miscellaneous income 500 By General charges 1,800
By Exhibition expenses 5,000
By Balance c/d
Cash in hand 200
Cash at bank 400 600
29,600 29,600

Additional lhformatlo_n: :

i) Opening capital fund Z.6,400.

ii)  Subscription includes ¥.600 for the year 2019.

iii) Science equipments as on 1.1.2018 Z.5,000.

iv) Surplus on account of exhibition should be kept in reserve for new auditorium.

Prepare income and expenditure account for the yeér ended 31st December, 2018 and the balance

sheet as on that date.

a) State any six factors determinihg goodwill.

g g (OR)
| b) From the following parﬁculars, ‘calculate tqtallsales. _’ :
Particulars | : : I | Particulars 7
Debtors on 1st April 2018 *2,50,000 | -Bills receivable dishonoured " 15,000
Bills receivable on 1st April 2018 | 60,000 | Retums inward 50,000
- | Cash received from debtors 7,25,000 Bills receivable on 31»st March, 2019 | . 90,000
Cash received for bills receivable | 1,60,000 | Sundry debtors on 31st March, 2019 | 2,40,000
Bad debts : 30,000 Cash_salés ‘ ' 3,15.000
V/12/Acc/8
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